

Proposal #009285464 Prepared For Jacksonville Middle School

Attention: **Kelly Zoellner** kzoellner@jsd117.org

For the Purchase of:

Into Math 6-8

Prepared By Amy L Waller amy.waller@hmhco.com

Please submit this proposal with your purchase order.

Purchase orders or duly executed service agreements for Professional Services purchased, must be submitted at least 30 days before the service event date.

> For greater detail, the complete Terms of Purchases may be reviewed here: http://www.hmhco.com/common/terms-conditions

Send Check Payments to: **HMH Education Company** 14046 Collection Center Drive Chicago, IL 60693

Attention: Kelly Zoellner kzoellner@jsd117.org

Send Orders to: orders@hmhco.com FAX: 800-269-5232

Date of Proposal: 3/7/2025

Proposal for Jacksonville Middle School Into Math 6-8

	•					
ISBN	Title	Price	Quantity	Value of all Materials	Value of Free Materials	Value of Charged Materials
1869591 9780358952404 Package Include Into Math \		\$450.00	12	\$5,400.00	\$5,400.00	
1869590 9780358952398 Package Include Into Math \ Grades 6-8	Teacher's Corner Into Math Student License 6 Year Grades 6-8 s: /ersion 1 Digital Student Resources 6 Year ation Success	\$138.00	550	\$75,900.00		\$75,900.00
Total for Student/Tea	acher Digital Licenses	\$75,900.00		-		
<u>Grade 6</u> A la Carte Items Teacher Materia	Available for Purchase					
	IS .					
1750434 9780358116301	Into Math Planning and Pacing Guide Grade 6	\$21.30	3	\$63.90		\$63.90
1756245 9780358157038 1750452 9780358116486	Into Math Linit Project Card Crede 6	\$171.60 \$16.25	3 3	\$514.80 \$48.75		\$514.80 \$48.75
1750458 9780358116547	Into Math Unit Project Card Grade 6 Into Math Game and Activity Cards Grade 6	\$16.25 \$16.25	3	\$48.75		\$48.75
1750428 9780358116240	Into Math TE Flipchart Grade 6	\$120.05	1	\$120.05		\$120.05
1753123 9780358122418	Into Math Essential Manipulatives Kit Grades 6-8	\$195.65	3	\$586.95		\$586.95
Student Material						
1756227 9780358156857	Into Math Student Edition (Consumable) 6	\$33.00	200	\$6,600.00		\$6,600.00
Total for A la Ca	Year Print Grade 6 rte Items Available for Purchase	\$7,983.20				
Total for Grade 6		\$7,983.20		:		
<u>Grade 7</u> A la Carte Items	Available for Purchase					
Teacher Materia	ls					
1753123 9780358122418		\$195.65	3	\$586.95		\$586.95
1750436 9780358116325	Into Math Planning and Pacing Guide Grade 7	\$21.30	3	\$63.90		\$63.90
1756246 9780358157045	Into Math Teacher Edition Collection Grade 7	\$171.60	3	\$514.80		\$514.80
1750454 9780358116509	Into Math Unit Project Cards Grade 7	\$16.25	3	\$48.75		\$48.75
1750460 9780358116561	Into Math Game and Activity Cards Grade 7	\$16.25	3	\$48.75		\$48.75
1750430 9780358116264 Student Material	Into Math TE Flipchart Grade 7 s	\$120.05	1	\$120.05		\$120.05
1756228 9780358156864	Year Print Grade 7	\$33.00	150	\$4,950.00		\$4,950.00
Total for A la Ca	rte Items Available for Purchase	\$6,333.20				
Total for Grade 7		\$6,333.20				
Acceler	ated 7 Available for Purchase					
Teacher Materia 1753123 9780358122418	Into Math Essential Manipulatives Kit Grades	\$195.65	2	\$391.30		\$391.30
1750439 9780358116356		\$21.30	2	\$42.60		\$42.60
1756250 9780358157083	Accelerated 7 Into Math Teacher Edition Collection Accelerated 7	\$171.60	2	\$343.20		\$343.20
1750457 9780358116530 1750463 9780358116592	Into Math Unit Project Cards Accelerated 7 Into Math Game and Activity Cards	\$16.25 \$16.25	2 2	\$32.50 \$32.50		\$32.50 \$32.50
1750433 9780358116295 Student Material		\$120.05	1	\$120.05		\$120.05
Send <u>Check Payme</u>	nte to:	Attention:		e.	end <u>Orders</u> to:	
HMH Education Com		Kelly Zoellner			ers@hmhco.com	
14046 Collection Cer		kzoellner@jsd117.org			K: 800-269-5232	
Chicago, IL 60693				. 70		
	LIMIL C	onfidential and Proprieta	rv.			

HMH Confidential and Proprietary
55738 Page 2 of 5 F

Expiration Date: 6/15/2025

Into Math 6-8

Proposal for	Expiration Date: 6/15/2025
cksonville Middle School	

Į:	SBN	Title	Price	Quantity	Value of all Materials	Value of Free Materials	Value of Charged Materials
1756232	9780358156901	Into Math Student Edition (Consumable) 6	\$33.00	50	\$1,650.00		\$1,650.00
То	otal for A la Car	Year Print Accelerated 7 te Items Available for Purchase	\$2,612.15				
Total fo	r Accelerated	<u>7</u>	\$2,612.15				
	Grade 8						
		Available for Purchase					
	acher Materials		*				
1753123	9780358122418	Into Math Essential Manipulatives Kit Grades 6-8	\$195.65	2	\$391.30		\$391.30
1756247 1750456 1750462 1750432	9780358116349 9780358157052 9780358116523 9780358116585 9780358116288 udent Materials	Into Math Planning and Pacing Guide Grade 8 Into Math Teacher Edition Collection Grade 8 Into Math Unit Project Cards Grade 8 Into Math Game and Activity Cards Grade 8 Into Math TE Flipchart Grade 8	\$21.30 \$171.60 \$16.25 \$16.25 \$120.05	2 2 2 2 1	\$42.60 \$343.20 \$32.50 \$32.50 \$120.05		\$42.60 \$343.20 \$32.50 \$32.50 \$120.05
1756229	9780358156871	Into Math Student Edition (Consumable) 6	\$33.00	175	\$5,775.00		\$5,775.00
То	otal for A la Car	Year Print Grade 8 te Items Available for Purchase	\$6,737.15				
Total fo	r Grade 8		\$6,737.15				
lm	Professi	onal Services - Into Math 6-8 Support for Into Math 6-8					
	9780358885337	Into Math Coaching In-Person 6-Hour Grades 6-8	\$4,200.00	1	\$4,200.00	\$420.00	\$3,780.00
1870037	9780358955245	Into Math with Classcraft Getting Started In- Person (Two, 3-Hour sessions), 6-Hour Grade 6-8	\$4,200.00	1	\$4,200.00	\$420.00	\$3,780.00
	their new program implementation re HMH's teaching a learning pathway introductory Getti	cetting Started session introduces teachers to his structure, essential resources, and ecommendations. Teachers will also explore Ed, and learning platform, and the professional on Ed. An HMH Coach will provide the ng Started session to one teacher group in the ferent group in the afternoon.					
	Ongoing training teachers will acceprade level and in sequence of topic interactive media, teach, and assess After teachers con	the initial step toward a successful first 30 days. and support will be also provided on Ed. There, ess a guided learning pathway based on their inplementation timeline. A recommended ess, which includes live sessions, videos, and related resources, will help teachers plan, es student learning using their new HMH program. inplete each pathway topic, they receive a					
То	certificate of comp otal for Impleme	entation Support for Into Math 6-8	\$7,560.00				
Total fo	r Professiona	I Services - Into Math 6-8	\$7,560.00				

Send <u>Check Payments</u> to: HMH Education Company 14046 Collection Center Drive Chicago, IL 60693

Attention: Kelly Zoellner kzoellner@jsd117.org Send <u>Orders</u> to: orders@hmhco.com FAX: 800-269-5232

Date of Proposal: 3/7/2025 Proposal for Expiration Date: 6/15/2025

Jacksonville Middle School Into Math 6-8

ISBN	Title	Price	Quantity	Value of all Materials	Value of Free Materials	Value of Charged Materials
	Total Savings: Subtotal Purchase Amount: Shipping & Handling:		\$6,240.0 \$107,125.7 \$7,085.8	70		
	Total Cost of Proposal (PO Amount):		\$114,211.5			
		Please add proper sales tax to your order				der**

Send <u>Check Payments</u> to: HMH Education Company 14046 Collection Center Drive Chicago, IL 60693 Attention: Kelly Zoellner kzoellner@jsd117.org Send <u>Orders</u> to: orders@hmhco.com FAX: 800-269-5232

Date of Proposal: 3/7/2025

Proposal for Jacksonville Middle School Into Math 6-8

Total Cost of Proposal (PO Amount): \$114,211.51

Thank you for considering HMH as your partner. We are committed to providing an excellent experience and delivering ongoing, highquality service to our customers. To meet these goals, we want to ensure you are aware of the below Terms of Purchase. These terms help us process your order quickly, efficiently, and accurately, ensuring successful delivery and implementation of our solutions.

- Please return this cost proposal with your signed purchase order that matches product, prices and shipping charges.
- Provide the exact address for delivery of print materials. The shipping address may be your district warehouse or individual school sites, but it is essential that this is accurate.
- Please supply the name of each important district point of contact for all aspects of the solution including their direct contact information (email/phone):
 - o Point of Contact for Print materials
 - Point of Contact for Digital materials
 - o Point of Contact for Scheduling Professional Development
 - o Email address for Accounts Payable contact
- Please confirm that we have the correct 'Ship to' and 'Sold to' information on the cost proposal.

Ship to:

Jacksonville School District 117

211 W State St

Jacksonville, IL 62650-2001

Sold to:

Jacksonville School District 117

211 W State St

Jacksonville, IL 62650-2001

- Please provide funding start and end dates.
- Please note HMH bills products and services as they are fulfilled. You may receive multiple invoices for your order.
- HMH reserves the right to transmit documents electronically.
- Our payment terms are 30 days from the invoice date.
- Print subscription material quantities may be adjusted across grades for like products, to accommodate enrollment fluctuations, quantities cannot be adjusted between different programs or copyrights.
- Our shipping terms are FOB shipping point. The shipping term for your proposal is Shipping Point.
- Any proposed shipping or tax amount provided on this proposal, is based on the Ship To account location guoted within.
- If the location of your delivery changes, please include the proper sales tax and shipping charges for that location in the applicable Purchase Order
- Should any of these Terms of Sale conflict with any preprinted terms on your purchase order, the HMH terms of service shall

Thank you in advance for supplying us with the necessary information at time of purchase.

Our goal is to ensure your success throughout the duration of this agreement, which starts with a highly successful delivery of our solution.

For greater detail, the complete Terms of Purchase may be reviewed here: http://www.hmhco.com/common/terms-conditions

Date of Proposal: 3/7/2025 **Proposal Expiration Date: 6/15/2025**



Send Check Payments to: **HMH Education Company** 14046 Collection Center Drive Chicago, IL 60693

Attention: Kelly Zoellner kzoellner@jsd117.org

Send Orders to: orders@hmhco.com FAX: 800-269-5232

Expiration Date: 6/15/2025

HMH Confidential and Proprietary Page 5 of 5